[={id E2=] &5t ¥ | BEST1 | BEST2 | BEST3 | WORST | B2ZE(A) | FIE
1 |5ER B J0 +280.7| 5 | +104.7| +94.0 | +58.1 | +23.9 | +320.7 | 1.60
2 |k &k +208.7| 11 | +115.1| +79.8 | +68.5 | A54.7 | +215.0 [2.39
3 |HN AlS J0 +184.3| 7 $79.1 | 466.2 | +61.4 | A22.4| 4220.8 |2.07
4 |FBB 1A +179.8] 9 | +91.3 | +64.0 | +43.8 | A19.3 | +150.6 [2.39
5 |EkEB Bt +178.3| 6 +87.3 | 462.4 | 457.5 | A28.9 | +224.6 |2.04
6 |KE =ik +175.9] 8 | +101.9| +71.5 | +9.8 | AT7.3 | +184.7 |2.28
7 |BE FER JO +162.9| 5 $69.7 | 457.6 | +39.0 | A3.4 | +178.3 [ 1.85
8 |WWZE BB +141.2| 4 | +83.1 | +49.4 | +10.3 | A1.7 | +141.1 | 1.88
9 |l &X +138.0| 11 | +59.3 | +55.5 | +49.5 | A26.3| +308.1 [ 2. 11
10 |[#&F #2 70 +137.7| 11 | +62.9 | +54.4 | +54.0 | A33.6 | +246.2 [2.05
11 |#8 —2 70 +120.8| 11 | +80.6 | +58.6 | +33.3 | A51.7| 463.8 [2.39
12 | 0~ 70 +117.3| 11 | +70.2 | +47.2 | +42.7 | A42.8| +93.2 |2.43
13 [/BE & +115.1| 11 | +84.6 | +45.4 | +44.0 | A58.9| 458.2 |[2.36
14 |@)Il 52 70 +114.8| 11 | +81.4 | +54.9 | +53.8 | A75.3 | +120.9 [2.39
15 | EB =X 70O +113.2] 9 | +75.6 | +53.4 | +41.9 | A57.7 | +108.1 | 2.31
16 |BIR {52 +112.0] 10 | +68.2 | +45.5 | +45.0 | A46.7 | +213.5 [2.25
17 |5F g8 +110.2| 11 | +70.0 | +38.8 | +29.1 | A27.7 | +155.1 [2.30
18 %8 MF 70O +107.5| 9 | +60.9 | +51.6 | +33.1 | A38. 1| +109.6 |2.39
19 [JEEB MF 70 +106.4| 5 | +43.7 | +43.6 | +39.6 | A20.5| +136.6 |2.00
20 B #5 0 +106.0] 2 | +88.0 | +18.0 $106.0 | 1.75
21 |8 AIX 70 +102.9] 10 | +61.0 | +52.4 | +44.6 | A55. 1| +121.0 |2.33
22 &L B +98.6| 11 | +74.6 | +49.8 | +27.6 | A53.4 | A6.9 |2.45
23 |BE & +90.5| 11 | 488.4 | +47.3 | +41.6 | A86.8 | A69.1 |2.57
24 /NG 23 +85.8| 5 | +71.6 | +40.2 | +40.0 | A66.0| +120.6 |2.05
25 |BH s 70 +82.1| 6 | +38.5 | +27.0 | +17.3 | A0.7 | +85.8 |2.29
26 |&8 %KX 70 +81.0| 10 | +54.5 | +43.8 | +34.0 | A51.3| AT.3 |2.38
27 [} & +80.1| 11 | +103.8 | +42.1 | +41.7 |A107.5| A93.8 |2.59
28 |&2Z Ral +77.1| 6 | +46.9 | +27.1 | +24.5 | A21.4| +90.1 |2.38
29 | k@ ZFH 70O +76.9| 7 | +46.3 | +38.2 | +15.3 | A22.9| +43.2 |2.50
30 |fSE aak +75.1| 9 | 469.5 | 454.6 | +41.4 | A90.4 | +23.1 |2.44
31 |k B2 +65.3| 1 165. 3 $65.3 | 1.50
32 |®R Esh J0O +64.5| 1 164. 5 +64.5 | 1.75
33 |@)Il BF +61.9| 1 61.9 +61.9 | 1.50
34 |l XEF +61.7| 11 | 438.7 | +36.4 | +19.2 | A32.6 | +7.8 |2.50
35 |TE B& +56.6] 1 +56. 6 +56.6 | 1.50
36 [RAY B 0 +55.9] 2 | +122.8 | A66.9 +55.9 | 2.13
37 [BR & 70 +55.1| 1 +55. 1 +55.1 | 1.50
38 &L E£=F| +52.7] 11 | 468.7 | 439.1 | +35.9 | A91.0 | A48.7 |2.48
39 |BK RAl +51.5| 3 | +51.2 | 3.5 | A3.2 +51.5 [2.33
40 & BBF +51.0] 9 | +55.2 | 453.8 | +27.9 | A85.9 | A113.1 | 2.64




[={id E2=] &5t ¥ | BEST1 | BEST2 | BEST3 | WORST | B2ZE(A) | FIE
41 |1BEB KB +50.5| 2 | 172.2 | A21.7 +50.5 |2.38
42 | WEBE +50.5| 2 167.7 | A17.2 #50.5 | 2.00
43 |B)Il #& 70 +48.0| 1 +48.0 +48.0 [ 1.75
44 |\ B8 +47.7] 7 | 463.1 | 459.1 | +12.1 | A86.6 | A96.8 |2.54
45 |21l i 70 +47.7| 11 | +57.4 | +28.5 | +15.5 | A53.7| A70.6 |2.52
46 |IAR Eoti +46.0| 6 | +48.2 | +37.2 | +24.6 | AG4. 0| +22.4 |2.46
47 |B)I B +45.3| 8 | +41.3 | 439.7 | +0.9 | A36.6| A19.0 |2.38
48 |BB LEE +45.0] 10 | +36.4 | 430.6 | +17.9 | A39.9| +26.5 |2.48
49 |fh8@ E= O +44.1| 1 +44.1 t44.1 [ 1.75
50 |SH ==X +43.9| 2 | 152.0 | AS8.1 +43.9 [2.38
51 |0 =B/ +41.4] 10 | 470.2 | +33.1 | +23.5 | A85.4 | A142.0 | 2.65
52 |{PBE #k3 7O +39.3| 6 | +30.7 | +19.9 | +5.8 | A17.1| +23.9 |2.58
53 |PES HI= +38.2| 7 $30.7 | 425.7 | 49.5 | A27.7| A18.0 |2.64
54 | A8 BE +37.4| 1 137.4 +37.4 [ 2.00
55 R &% 7O +33.2| 1 $33.2 $33.2 [ 1.75
56 |Z&¢ I8E +33.1] 1 $33.1 $33.1 [2.00
57 |{cE HEKER +32.3| 1 32.3 $32.3 | 1.75
58 |MJII & +31.9] 11 | +54.4 | 450.6 | +15.0 | A88.1| A116.6 | 2.59
59 | RE +31.3| 3 | +44.1 | A2.2 | A10.6 $31.3 [ 2.50
60 |PEE BZ J0 +29.3] 1 +29.3 $29.3 | 2.00
61 |BEA & +29.1] 1 $29. 1 $29.1 [2.25
62 |l A +27.4] 10 | +49.9 | +25.2 | +23.2 | AT0.9| A19.9 |2.63
63 |FE gz +26.3| 11 | 434.0 | +32.1 | +23.2 | AG3.0 | A111.9 | 2.61
64 |EFUE {6EE +24.1| 2 | +29.1 | A5.0 +24.1 [2.50
65 |18 H2 +23.1] 1 $23.1 +23.1 [ 1.75
66 |FElF 87 +23.1] 1 +23.1 $23.1 [ 2.25
67 |iFE Bt +22.1| 8 | +23.1 | +18.5 | +17.8 | A37.3| AZ26.6 |2.69
68 (%810 {gu +21.7] 1 +21.7 $21.7 [ 2.25
69 |78 — +20.9| 1 $20.9 $20.9 [2.25
70 |tEH Sb%ﬁ +20.8] 1 +20. 8 +20.8 |[2.25
[ EYIE +20.6| 1 +20. 6 $20.6 | 2.00
2 |XRIE Mzn 70 +20.5| 2 161.4 | A40.9 $20.5 [2.13
73 |BRE & +18.3] 9 | +50.0 | +44.4 | +15.0 | A91. 1| A46.2 |2.53
74 |RER BBEN +17.5| 1 $17.5 +17.5 [ 2.00
75 [HIRO%E®B ~O +17.4| 1 +17. 4 +17.4 | 2.25
76 |\& NEAE +15.2| 4 | +77.3 | +18.3 | A14.1| A66.3| +15.2 |2.38
7|t BF +14.2| 11 | +36.5 | 433.7 | +10.0 | A66. 1| A134.1 | 2.68
8 |BlF Rk +13.6| 5 +54.3 | +25.8 | A3.8 | A62.7| A18.2 [2.55
79 [hE K& +13.1| 9 | +33.5 | +28.5 | +26.4 | A75.3 | A181.0 | 2.69
80 (&L iB— JO +12.3] 1 +12.3 $12.3 | 2.50




[={id E2=] &5t ¥ | BEST1 | BEST2 | BEST3 | WORST | B2ZE(A) | FIE
81 |B8 BF +11.2] 11 | 460.3 | +19.0 | A1.6 | AG6.6 | A204.9 | 2.80
82 |/Jvtt —BA +9.3| 5 +30.3 | +27.7 | +2.4 | A51. 1| A36.0 [2.55
83 [®F HE +7.1| 1 7.1 +7.1 [ 2.25
84 |fhEB R 7O +6.9| 1 16.9 6.9 | 2.00
85 |BJE i 7O +6.7] 2 18.4 | ALT 6.7 | 2.50
86 |Bs BN 70 +6.4| 1 16. 4 6.4 |2.25
87 [#BAK 1B +6.3| 6 | +40.9 | +4.8 | A5.3 | A34. 1| A26.4 |2.54
88 |RIL Bk +6.3| 11 | 437.7 | +22.0 | +9.9 | A63.3| A193.0 | 2.80
89 |WF Xt 7O +6.0| 1 16.0 6.0 |[2.25
90 |HW —& +5.2| 2 | +64.1 | A58.9 5.2 | 2.63
91 | X 7O +5.1| 2 | +37.2 | A32.1 5.1 [ 2.63
92 |=)Il 5% +4.0] 11 | +45.6 | +23.4 | +21.5 | A86.5| A173.8 |2.82
93 |FE BB +2.0| 1 2.0 $2.0 | 2.50
94 | K% =N +0.4| 11 | +40.4 | +17.6 | +2.5 | A60.1| A268.1 |2.80
95 &Il At AO0.2| 1 A0.2 A0.2 |2.25
% |F £ 70 A1.0| 1 A1.0 A1.0 [2.50
97 |AB B&% A1.3| 1 A13 A13 |2.25
98 |NH =B A3.3| 1 A3.3 A3.3 [2.50
9 |EHZ = JO A3.4| 8 | +61.3 | +30.5 | A7.7 | A87.5| A117.5 [ 2.69
100 | KN~ B8R A3.9| 1 A3.9 A3.9 [2.50
101 |#8)I] 35 A4.0| 1 A4 0 A4 0 [2.50
102 |t8ch & 0O A5.4| 2 | +16.5 | A21.9 A5.4 [2.75
103 ({£E4 K 538 70 A5.8| 1 Ab5.8 A5.8 |2.50
104|280 88 J0 A6.4| 11 | +28.9 | +25.5 | +17.1 | AT7.9| A41.7 [2.66
105 |LLUE & A6.5| 1 A6.5 AG.5 [2.75
106 |Garthe Nelson O A6.9| 1 AB.9 AB.9 [2.75
107 | &% KA0 A7.2| 2 | +13.2 | A20.4 A7.2 [2.50
108 |BR <BH Al11.1| 2 0.9 | A12.0 A1l 1 [2.75
109 |JIIAY f@— A12.1| 1 | A12.1 A12.1 [2.50
110 |BLEA 12 A12.1| 1 | A12.1 A12.1 |2.75
11 iR K 70 A13.0| 7 | +33.4 | +24.0 | +19.5 | A89.9| AG61.1 [2.57
112 {8 ZX A14.3| 7 19.9 | 45.5 | 43.0 | A32.7| A48.9 |2.71
13 KB BH Al14.4] 1 | Al4. 4 Al4.4 3,00
114 |8 &R A16.9| 2 5.0 | A21.9 A16.9 [2.25
115 |F8B = A18.4| 2 | +27.2 | A45.6 A18.4 [2.50
116 |LWA BX A19.6| 11 | +22.4 | +20.5 | 46.8 | AB9.3 | A185.4 [2.73
17 |R% B3B8 70 A20.9| 2 +14.9 | A35.8 A20.9 (238
118 |RIED B&% 7O A21.1| 1 | A21.1 A21.1 [2.50
119 |8RED w4 A21.9| 3 | +25.0 | A8.3 | A38.6 A21.9 |2.42
120 |BZE KO A22.1| 1 | A22.1 A22.1 [2.75




[={id E2=] &5t ¥ | BEST1 | BEST2 | BEST3 | WORST | B2ZE(A) | FIE
121 |4+ & A25.7| 9 +27.7 | +19.2 | +10.6 | A83.2| A97.0 |[2.67
122 |58 &5 70 A28.5| 1 | A28.5 A28.5 |3.00
123 |/)#k ERD 70O A298| 1 | A29.8 A29.8 [2.75
124 |@BB #& 7O A30.7| 4 | +31.1 | 43.9 | A14.5| A51.2| A30.7 [2.75
125 | 0B #F A32.1| 8 | +28.2 | +22.3 | A14.8 | A67.8 | A208.1 |2.84
126 iR f2AER A33.2| 3 | +17.7 | A20.3 | A30.6 A33.2 [2.75
127 [RFH BB A345| 1 | A34.5 A34.5 |3.25
128 |£H Z¥E 7O A34.8| 1 | A34.8 A34.8 [3.25
129 |8E 5 A356| 11 | +18.4 | +18.4 | +15.4 | A87.8 | A245.2 | 2.84
130 (f&B #& A358| 2 | +50.4 | A86.2 A35.8 |2.88
131 /%R &7 A40.1| 3 $19.2 | A27.2 | A32.1 A40.1 |2.75
132 [N & A40.3| 5 | +21.1 | +19.4 | AT.7 | A73.1| A68.6 [2.60
133 |EB A& 70 A41.7| 4 | +20.0 | A15.3| A16.1| A30.3| A41.7 [2.56
134 |5\L 52—8B A47.7] 2 3.8 | A51.5 A4T.7 [ 2.63
135 [#k 1B A525] 2 | +21.3 | A73.8 A52.5 |2.88
136 | 29w A53.0] 1 | A53.0 A53.0 [3.25
137 |36 #SEE AG3.6] 2 | A19.2| A44.4 AG3.6 |2.88
138 |fEAD BB O A66.2| 3 | +40.9 | A41.1| AB6.0 AGB6.2 [2.75
139 |FBIS wAHY O A66.9] 1 | A66.9 AGB6.9 [3.75
140 |=58 BX AG7.4| 2 | A21.2 | A46.2 AG7.4 |2.88
141 |BF B A69.1] 5 16.6 | A4.3 | A8.1 | AB3.3| A125.0 |2.80
142 |7@l K= A749] 1 | AT4.9 AT4.9 [4.00
143 |85K 8 A753| 10 | +23.5 | 6.8 | A2.9 |A102.7| A206.3 | 2.65
144 |LLEB &) A80.5| 2 | A40.2 | A40.3 AB80.5 |2.88
145 |5/ 68 A80.9] 3 | A9 | A11.4| ABT.6 AB80.9 |3.08
146 |GH X& A86.3| 1 | A86.3 AB86.3 [3.75
147 | =B BEfxE A959| 2 | A34.7| A61.2 A9.9 (288
148 |#8 K —% A102.2| 3 | A6.9 | A26.5| A68.8 A102.2 | 3.00
149 |[(EA R —¥& A133.0] 5 10.6 | A25.9| A40.9 | AG6.8 | AT182.2 [3.00
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